
Log transformed confidence intervals using Kaplan-Meier estimator 
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Now, we will apply the inverse transform ( )( )( )( )( ) exp expS t g S t= − to get a confidence 

interval for ( )S t  as requested. Note that the inverse transform is a decreasing function and 

consequently the inverse transform of the lower bound will be the upper bound of the new CI  

( ( ) exp( exp( ))x xΨ = −  and ( ) ( ) 0x
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So, the upper bound of the new Confidence interval is the inverse transform of 
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And for the lower bound 
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To sum-up: 
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